HW 3.4(b)
1.
What is the length of b?


[image: image1.jpg]



2.
What is the length of side c?
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3.
What is the length of side q?
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4.
Find angle A.
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5.
Find angle Q.
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6.
Find angle B.

[image: image6.jpg]



7.
Two buoys, A and B, lie 33 metres apart on the sea surface.  There is a crab "C" 
on the seabed.  The angle of depression of C from A is 60° and the distance AC is 40 metres.  Calculate the distance BC.
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8.
Ayton is 25 miles due north of Beeton. Ceeton lies to the east side the road 
joining Ayton to Beeton, and is 47 miles from Ayton and 63 miles from Beeton. 
(All roads are straight.)
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Calculate the three-figure bearing of Ceeton from Ayton.
Note A three-figure bearing is always measured in a clockwise sense from the direction North.

